
Algebra      Name _______________ _______________ 
7.1~ Find the Fib               _______________ ______________ 
In groups of 4, students are assigned the letter A, B, C, or D.  Students check that ordered to pair to see if  
it is a solution.  The team then comes together and determines which one is “The Fib” (not a solution). 
 
 
 

1.  
6x − 3y = −15
2x + y = −3

 

 

 
A: (1, 2) 
 
B: (3, -4) 
 
C: (-2, 1) 
 
D: (2, 5) 
 

Show work: 

 
 
 

2. 
3x − 2y = 11
−x + 6y = 7

 

 
 

 
A: (5, 2) 
 
B: (-2, 4) 
 
C: (-3, 6) 
 
D: (2, 5) 
 

Show work: 
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3. 
−5x + y = 19
x − 7y = 3

 

 
 

 
A: (6, 1) 
 
B: (-4, -1) 
 
C: (3, 5) 
 
D: (4, 2) 
 

Show work: 

 
 
 

4. 
3x + 6y = 15
−2x + 3y = −3

 

 
 

 
A: (-6, 3) 
 
B: (1, 3) 
 
C: (4, 5) 
 
D: (3, 1) 
 

Show work: 
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